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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 847 1 

 

 

2 (a) 20 376 

 

(b) 20 400 

1 

 

1ft 

 

 

Their (a) to nearest 100 

3 (a) 3 

 

(b) 3 

1cao 

 

1 

 

 

4 (a) Trapezium 

 

(b) Parallelogram 

1 

 

1 

Do not allow Trapezoid  

 

 

5 100 2 M1 for 
15

600

+
(×1) 

If zero, SC1 for answer of 500 

 

6 124 or 123.8  

or 123.83 to 123.92  

2 M1 for π × 6.28
2

 

7 0.54 2 M1 for 

100000

200007.2 ×

 oe  

or SC1 for figs 54 in answer 

 

8 (a) 10 

 

(b) 9 

1 

 

1 

 

9 22.5 oe 3 B2 for 180 = 5x + 2x + x oe or better 

B1 for 2x or 6x marked in the correct place on 

the diagram 

10 x = 13 

y = −9 

3 M1 for consistent multiplication and 

addition/subtraction. 

A1 for x = 13 or A1 for y = –9 

11 

12

26

– 

12

7

  or 2 – 

12

5

 oe
 

 

1

12

7

 or  

12

19

oe 

M2 

 

 

A1 

M1 for 

6

13

 − 

12

7

 or 2

12

2

 − 

12

7

 or  

6

1

 − 

12

7

 oe 

 

12 (a) 1738.3 

 

(b) 2.87 × 10
4

 

 

(c) 6.5 

1 

 

1 

 

1 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 64 1cao  

2 52 1  

3 

 

 

(a) 

10

3

 or 0.3 or 30% 

 

(b) 0 or 

10

0

 or 0% 

1 

 

1 

 

4 58.25  Y  d  <  58.35 1,1 SC1 for both correct values but reversed  

5 

 

Working must be shown.  

 

2 

 

M1 

9

14

and 

9

16

    M1 

8

7

16

14

= oe  

or visible cancelling  

6 

 

0.8
2

 

 

2 

 

M1 conversion of 

27

16

(= 0.5(9..)) and  

0.8
2

 (= 0.64) to decimals seen
 

7 5.51 × 10
3

 2 B1 for 5.508 × 10
3

 or figs 551 

or 5.5 × 10
3

 

8 euros (with correct working)  

or (6)€  

2 M1 one of 6 × 1.9037 or 11.5 ÷ 1.9037 

or 11.5 ÷ 6 seen 

9 

4x
–24

 or 24

4

x

 2 B1 4x
n

 B1 24

x

k

or  kx
–24

 for any numerical k, n 

10 14.4(……)  3 M2 for )9(17
22

− or 

M1 for 17
2

 = x
2

 + 9
2

 or better seen 

11 (a) (0)700 or 7 am  

 

(b) 1700 or 5 pm 

2 

 

1 

M1 100 – (5 × their(22 – 6) + their(13 – 8))  

or better  soi 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied 
 

Qu Answers Mark Part Marks 

1 16 1  

2 82% < 
28

23

 < 0.83 < 
6

5

 2 M1 for correct conversion of both fractions to 

decimals or percentages. Minimum 3 sf. 

or B1 for correct but reverse order  

3 Wednesday 

22 15 or 10 15pm 

2 B1 

B1 

4 (a) 

 

 (b) 

I  cao 

 

I   N  cao 

1 

 

1 

 

5 (a) 

 

 (b) 

1.9  

 

30.4 

1 

 

1 

 

6 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 2

13

 

2 B1 for one correct component 

7 25 (correct working essential) 2 M1 for 18 + 4 + 3 with denominator 12 must be soi 

(oe is possible) 

8 64 000 or 6.4 × 10
4

 2 SC1 for 63800 or 6.38 × 10
4

 or figs 64 or 6.4 × 10
k

 in 

answer space. 

9 (a) 

 

 (b) 

a
5 

 

0.04 or 
25

1

 

1 

 

1 

 

10 12 550 ø n < 12 650 2 B1 for one correct or both correct but reversed. 

11 (a) 

 

 (b) 

109 681 final answer 

 

1.09681 × 10
5

 

1 

 

1ft 

 

 

Their part (a) in standard form 

12 4.46 or 4.456 to 4.459 cao 3 B1 for 28 seen 

M1ft for 

π2

28their

oe or better. 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied 
 

Qu. Answers Mark Part Marks 

1 40 1  

2 52 000 1  

3 11 109 1  

4 (a) 

 

 (b) 

53 

 

64 

1 

 

1 

 

5 (a) 

 

 (b) 

< 

 

= 

1 

 

1 

 

 
6 

 
120 

 
2 M1 for 

100

82750 ××

oe seen or 

SC1 870 as final answer 

7 95 2 B1 for 85 seen or  

M1 x = 180 – ‘their angle ADC’, if it is clearly seen 

8 (a) 

 

 

 

 (b) 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛−

5

1

 

 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 20

15

 

1 

 

 

 

1 

 

9 (a) 

 

 (b) 

1 

 

b
–2

 

1 

 

1 

  
accept 2

1

b

 

10 7 cao 3 B1 for 39.5(0) or 31.5(0)  or 42  

M1 for (their 39.5 – 8) ÷ 4.5  

or (their 42 – 10.5) ÷ 4.5  

11 (a) 

 

 (b) 

 

 (c) 

isosceles 

 

64 

 

alternate (angle) 

1 

 

1 

 

1 

 

 

 

 

accept z angle 
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13 (a) 

 

 (b) 

 

 (c) 

cuboid 

 

pentagon 

 

obtuse 

1 

 

1 

 

1 

condone [rectangular] prism 

 

14 (a) 

 

 (b) 

7 

 

1270 or 1274  

 or 1274.2 to 1274.4  

1 

 

2 

 

 

M1 for π × 5.2
2 

× 15  

 

15 

 

454.27 cao final answer 

 

3 

 

M1 for 

2

100

4

1420 ⎟

⎠

⎞
⎜

⎝

⎛
+×  oe 

and A1 for 454 or 454.2 to 454.3 

or SC2 for answer 34.27 

or SC1 for answer 34.2 to 34.3 

16 175 cao final answer 3 

 

B2 for 175.4… 

or M1 for 200 ÷ 1.14 

17 (a) 

 

 

 (b) 

correct ruled line  

two pairs of correct arcs 

 

correct ruled line  

two pairs of correct arcs 

1 

1 

 

1 

1 

 

18 (a) 

 

 

 (b) (i) 

 

  (ii) 

5
–2

 and 0.2
2

 

 

 

a
9

 

 

4b
12

 

 

2 

 

 

1 

 

2 

M1 for any two correct decimal values seen with 

the correct expression 

e.g. 0.04,   0.4,   0.25,    0.16,   0.04 

 

 

B1 for 4b
k

 or B1 for kb
12

 

where k is an integer ( k ≠ 0 ) 

19 (a) 

 

 (b) 

 

 (c) 

5x + 15         final answer 

 

3x( 4y – x )   final answer 

 

15 

1 

 

2 

 

2 

 

 

B1 for 3( 4xy – x
2 

)  or   x( 12y – 3x )  

 

M1 for a correct first step  

20 (a) 

 

 (b) 

 

 

 (c) 

4 cao 

 

27

21

 oe isw 

  
3.33(3…)  

1 

 

2 

 

 

3 

 

 

 

M1 for 3 + 6 + 5 + 7 + 4 or 21 seen  
M1 for 3 × 1 +  6 × 2 + 5 × 3 + 7 × 4 + 4 × 5 + 2 × 

6, allow one incorrect product or 90 seen 

 

and M1 dep for ‘their 90’ ÷ 27  
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12 (a) Negative 1  

(b) More rain [suggests] lower temperature oe 1  

13  114 to 117 2 B1 for 38 to 39 seen or 72 [mph] 

14 (a) 74 2 M1 Angle B = 180 – 127   

(b) 53 1FT 127 – their part (a) 

15  1.6[0] 3 M1 for  800 × 1.5   

and M1 for their 1200 ÷ 750 

16 (a) (i) p
10

 1  

 (ii) t
−3

 or  
3

1

t

 1  

(b) 4 1  

17 (a) Angle [in a] semi-circle 1  

(b) 19.2 or 19.23 to 19.24 2 M1 for 17
2

 + 9
2

  

18 (a) 

5

16

 and 

8

21

 oe 

40

8

 and 

40

25

oe 
M1 

 

 

 

 

 

 
  

40

105

40

128

−
  oe 

40

25

40

8

40

40

−+  

oe 

M1 

  or 

 

40

215

40

168 theirtheir ×

−

×

  

 
oe 

with numerators 

evaluated 

 
 

 (b) 

23

40

8

7

×  oe 
M1 

 

  
23

12
1  cao 

A1 

19 (a) (i) 40.3 1  

 (ii) −3.3 2 M1 for attempt at ordering seen 

(b) 

12

7

 oe isw 1  
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Abbreviations 

cao correct answer only 

dep dependent 

FT follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

nfww not from wrong working 

soi seen or implied 

 

Qu. Part Answers Mark Part Marks 

1  4p 1  

2  1.49 or 1.491... 1  

3 (a) 340 000 1  

 (b) 999 999 1  

4 

 

0.2     

20

9
    45.4%    

11

5
 2 

 
B1 for 3 from 0.4545[…], 0.447[2….], 0.454, 

0.45 or equivalent percentages seen or three in 

the correct order.  

If zero SC1 for correct but in reverse order.    

5 (a) –9 1  

 (b) 10 or −10 1  

6 (a) 570 000 1  

 (b) 5.69 × 10
5

 1  

7  4     4     10 2 B1 for answer of  4    4    k  

or  4    p    q  where p + q = 14 

8 (a) (0, 5) 1  

 (b) – 1 1  

9  [x =] 2, [y =] – 3 2 B1 B1 

or  SC1 for reversed answers 

10  7.06 or 7.063 to 7.064 2 M1 for 

8

][
= cos28 or better 

11  8750    8850 1, 1 If zero, SC1 for both correct but reversed 

12 (a) 46 1  

 (b) 20 05 or 8 05 pm 2 M1 for adding 3 h 20 min and 2 hours to 14 45 
or B1 for 18 05 or 6 05 pm or 16 45 or 4 45 pm 

or 20 h [0]5 or 20 05 pm or 20 05 am 
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26 (a) 5a(3a
2

−b) 2 B1 for a(15a
2 

− 5b) or 5(3a
3

− ab) 

 (b) 3x
6 

y
4 

2 B1 for   x
6   

or  y
4

 in a product on 

answer line 

 (c) 6 – 5x as final answer nfww 2 B1 for 3x – 6 or  – 8x + 12 seen 

or SC1 for 6 or – 5x seen in final 

answer nfww 

 (d) 3 nfww 3 M2 for 5x = 15 

or B1 for 3x +24 seen  

or M1 for 8x – 3x = 3 × 8 − 9 or 

better. 

 

If zero, SC1 for answer [x =] 

5

1

−
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Abbreviations 

cao  correct answer only 

dep  dependent 

FT  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

nfww not from wrong working 

soi  seen or implied 

 

Question Answers Mark Part Marks 

 
1 

 
1.37 

 
2 B1  for 0.866… or 

2

3

 or 0.5 or 

2

1

 

or B1 for 1.366… as final answer 

 
2 

18

1

18  

 
2 M1 for 

2

36

36

2

+ or better   

 
3 

 
30 

 
2 M1 for   n – 8 = 22 or 15

2

=

n

 

4 (a) 

20

25×

 
1  

 

 (b) 

0.5  or  

2

1

  cao 
1  

 

5 0.5
3

   0.5
2

    0.5   
3

5.0  2 B1 for 0.25 ,  0.125 and 0.793…    seen 

or for three in correct order 

 

6 1.6[0]
 

3 M1 for  800 × 1.5   

and M1 for their 1200 ÷ 750 

7 
64 −± y  3 M1 for their 6 moved correctly 

M1 for their √ taken correctly 

M1 for their 4 moved correctly 

8 

)1(

2

+xx

 
3 B1 for common denominator  x (x +1) seen 

M1 for 2 (x + 1) – 2x oe or better 
 

9 (a) 119 3 M2 for 18 × 6 + 11 oe  

or  B1 for  18 or 11 or 108   

 (b) [0] 1 [00] pm  cao 

 

1  

10 (a) 

 

(a + b)(x + y) 2 B1 for  a(x + y) + b(x + y)   

        or  x(a + b) + y(a + b) 

 (b) (x – 1)(3x – 2) 2 B1 for (x – 1)(3(x – 1) + 1)  

If B0 then SC1 for  (x + a)(3x + b) where 3a + b = – 5 
or ab = 2 or 3(x – 1)(x – ⅔) 



Indices 2 Answers

10) 
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16   (a) ( )qppq 322 −  2 B1 for ( )qppq 64 −  or ( )pqpq 322
2

−  

or ( )
2

322 qpqp −  

  (b) )1)(4( xtu ++  2 B1 for )4()4(1 tuxtu +++  

or )1(4)1( xtxu +++  

17  (a) 5t
25

 2 B1 for 5t
k

    or   mt
25

 (m ≠ 0) 

  (b) –2 1  

  (c) 64 1  

18 576 4 M1 for 
3456

1458

 or 
1458

3456

 

 

M1 dep for 
3

fraction their  

 

M1 for (their cube root )
2

 

19  

3

1−x

 final answer 

 
4 

 
B2 for )7)(1( +− xx  

or SC1 for ))(( bxax ++  where ab =  –

7 

or a + b = 6 

 

B1 for )7(3 +x  

20  (a) –3 1  

  (b) 39 – 7n  oe 2 M1 for – 7n [+ k] 

  (c) 53 2 M1 for their (b) = –332 shown 

provided 

their(b) is linear and their answer for 

(c) is a positive integer 

 
21  

 
 (a) 

 
4.47 or 4.472[…] 

 
3 M2 for 

22

46 −  

or M1 for [ ]
222

64 =+PM  or 
22

46 −  

  
 

 (b) 
 

48.2 or 48.18 to 48.19 

 
3 M2 for cos[correct angle] 

6

4

=  oe 

 

or M1 for recognising a correct angle 


